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Question Number : 1 Question Id : 284703781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The PowerPoint view that shows yvou the text of your slide in a larger outline format than the nommnal view is
Options:

1 % slide show view

> # slide sorter view
- » Dotes page view

4 « outline view

Question Number : 1 Question Id : 284703781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 284703782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shimmer, sparkle text, blinking background etc are known as in Microsoft Word.

Options:
, w fontstyles

> # font effects
z % word art

4 « texteffects

Question Number : 2 Question Id : 284703782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 284703783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is Google?
Options:

, « Search Engine

- u Spreadsheet

5 w word processor

4 #% Chat service on the web

Question Number : 3 Question Id : 284703783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 284703784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A normal CD-ROM usually can store up to of data.

Options:



| % 700 Bytes
» « 700 MB
= % 700 KB

4 % 700GB

Question Number : 4 Question Id : 284703784 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 284703785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Most mail programmmers automatically complete which two of the following parts in an e-mail?

Options:
, » From and Body

> « From and Date
=z % From and To

, » Fromand Subject

Question Number : 5 Question Id : 284703785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 284703786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is used for transferring files between individuals on the Internet or sending them to a specific list of people.

Options:
; % ISP

- % ASP
5 « E-mail

4 % Chat

Question Number : 6 Question Id : 284703786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 284703787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A terminal that has no built-in data processing capabilities is known as a

Options:
1 % direct access terminal

- » intelligent terminal



= « dumb terminal

4 % smart terminal

Question Number : 7 Question Id : 284703787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 284703788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shortcut icons are normally used for which purpose?

Options:
, w Toclose the desktop

- o start an application

- % To close an application

4 # To clear the screen

Question Number : 8 Question Id : 284703788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 284703789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Background colours or effects applied to a document are NOT visible in which of the following views?

Options:

| % Web layout view

-  Print Layout view
- » Reading View

4 % Print Preview

Question Number : 9 Question Id : 284703789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 284703790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which function is NOT available in the Consolidate dialog box in Microsoft Excel?

Options:
1 « Pmt

5 % Average

=z % Max

4 % Sum



Question Number : 10 Question Id : 284703790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 « Pmt

. » Average

=z % Max

4 % Sum

Question Number : 11 Question Id : 284703791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the name of the language used to write a web page?

Options:
. % HTTP

o B FIP
3 % URL

4 v HIML

Question Number : 11 Question Id : 284703791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % HTTP
> = FTP
s % URL

4 « HTML

Question Number : 12 Question Id : 284703792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What type of device is a computer printer?

Options:



| % Input

-~ » Both input and output

- % Software

4 Output

Question Number : 12 Question Id : 284703792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 284703793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following Microsoft Office programs offers the animation feature?

Options:
1 % Microsoft Word

®

Microsoft Excel

ra
B

&,

= « Microsoft PowerPoint

Microsoft Access

o
®

Question Number : 13 Question Id : 284703793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
frafaf@a & @ #ia a1 AEFEmTe AHhg T TR T 9 Har 87

Options:

| » FTSHEGE TS



, « FTSHIAGS TFHa

.  FATSHIEFE qratcarse

, « HTSHIET WFHd

Question Number : 14 Question Id : 284703794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a type of protocol?

Options:
i % ASCII

> % RAM
= « TCP/IP

4 % DBA

Question Number : 14 Question Id : 284703794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % ASCII
. % RAM
-« TCPIIP

., « DBA

Question Number : 15 Question Id : 284703795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which year did VSNL launch public internet access in India?

Options:
1« 1995
5 % 1999

s % 1994



4 % 1996

Question Number : 15 Question Id : 284703795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, » 1995

. % 1999
5 % 1994

, = 1996

Question Number : 16 Question Id : 284703796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a hardware?

Options:

, % Magnetic Tape

> % VDU terminal
5 % Printer

4 « Assembler

Question Number : 16 Question Id : 284703796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 284703797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is also known as system cabinet or chassis.

Options:
. w Inputdevice

- % Output device
- u Desktop

4  System unit

Question Number : 17 Question Id : 284703797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 18 Question Id : 284703798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a unit of computer memory?

Options:
, » Kilogram
-  Kilobyte

= % Meter

4 % Celsius

Question Number : 18 Question Id : 284703798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 284703799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The term designates equipment that might be added to a computer system to enhance its functionality.

Options:
, w Digital device

> % System add-on

- = Diskpack

4 Peripheral device

Question Number : 19 Question Id : 284703799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 20 Question Id : 284703800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following will data remain intact even after the computer is turned off?



Options:
1 # RAM

- % Motherboard
5  Secondary storage device

4 w Primary storage device

Question Number : 20 Question Id : 284703800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 284703801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LAN, WAN and MAN are computer networlss covering different areas. Their first alphabets L, W and M, respectively
stand for:
Options:
| « Local, Wide, and Metropolitan.

- u Long. Wireless, and Metropolitan.

5 % Local. World, and Middle.

4 % Least, Wireless, and Maximum.

Question Number : 21 Question Id : 284703801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 284703802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following has the fastest transmission speed?

Options:
, w Twisted-wire pairs

- % Coaxial cable

3 of Optical fiber

4 % Microwave

Question Number : 22 Question Id : 284703802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 284703803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Passwords enable users to
Options:

, w getinto the system quickly



- % make efficient use of time

-  retain confidentiality of files

4 = simplify file structure

Question Number : 23 Question Id : 284703803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 284703804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
are lists of commands that appear on top of the application window.

Options:
1 & QUIs

-~ % Icons
= « Menus

4 % Windows

Question Number : 24 Question Id : 284703804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 284703805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the correct way to enter charts in Microsoft Excel?

Options:
1 # Formulas => Charts

> % Data == Charts
= « Insert == Charts

4 #® View == Charts

Question Number : 25 Question Id : 284703805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 # Formulas >> Charts

> % Data >> Charts
z « Insert >> Charts

4 # View >> Charts

Question Number : 26 Question Id : 284703806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Numbers and dates entered in a cell in Microsoft Excel are called

Options:
1 % labels

> « numeric entries

.

5 % symbols

4 ® texts



Question Number : 26 Question Id : 284703806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 284703807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which device in network can forward IP Packets NOT explicitly addressed to it?

Options:
, w Dridge

> % Switch
= « Router

4 % Repeater

Question Number : 27 Question Id : 284703807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 284703808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
The instructions for starting a computer are generally stored in:

Options:
, » BRAM chip

> % DVD
=  ROM chip

4 % CPU

Question Number : 28 Question Id : 284703808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 284703809 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The AutoFill feature of MS-Excel is used to:
Options:

, « fill cells with data that follows a pattern

- » automatically add range of cell values
- % apply a border around selected cells

4 = automatically add selected columns

Question Number : 29 Question Id : 284703809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 284703810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the shortcut kev to insert current date in a cell in Microsoft Excel?

Options:

1 ® Cul+D
5 g Cll+
3 8 Cl+T
4 ® Cirl+/

Question Number : 30 Question Id : 284703810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % Ctrl + D

> o Clrl + ;
z % Ctrl + T

L% Ctrl +/

Question Number : 31 Question Id : 284703811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of copying a web page or file from a server to vour computer is called

Options:
; w e-mailing



> % file hosting

- % Uploading

4  downloading

Question Number : 31 Question Id : 284703811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 284703812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a type of worm that attaches itself to e-mails that a user sends.

Options:
1 « Mass Mailer

> # Cookies
= % Connecter

4 % Irojan Horse

Question Number : 32 Question Id : 284703812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 33 Question Id : 284703813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A is used in a tablet PC to write on the screen.
Options:

, w finger

5 % Imouse

5 w digitizer

4 Stylus

Question Number : 33 Question Id : 284703813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 284703814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The process of reducing the storage size requirements for a file is called:

Options:
, w file decompression

-  file compression

= # file association



4 % file modification

Question Number : 34 Question Id : 284703814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 284703815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
lines up text along both the right and left margins of a document.

Options:
, w Leftaligning

-~ » Center aligning

5 » Right aligning

4  Justified aligning

Question Number : 35 Question Id : 284703815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 36 Question Id : 284703816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following kevs are generally vsed in combination with other kevs to perform shorteuts and special tasks?
Options:

1« Control, Alt

» » Function, Toggle
5 % Delete, Insert

4 % Caps Lock, Num Lock

Question Number : 36 Question Id : 284703816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

.« Control, Alt

-, » Function, Toggle

5 = Delete, Insert

4 » Caps Lock, Num Lock

Question Number : 37 Question Id : 284703817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A collection of related files is called a

Options:
1 % character
> % field

3 « database

4 % record



Question Number : 37 Question Id : 284703817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 38 Question Id : 284703818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If defragmentation process restarts again before completion. then the problem is related to:

Options:

, % memory

- % Processor

- % any other problem

4  Aany application, that might have been opened while the process was running

Question Number : 38 Question Id : 284703818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 39 Question Id : 284703819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which type of attack threatens confidentiality of information?
Options:
, w» Scouting

o  Snooping

s % DOS

4 # Brute force attack

Question Number : 39 Question Id : 284703819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T 9R 1 HeF TIAT H MNUATAT F BT @aw §7

Options:

1&13;5%7[

Question Number : 40 Question Id : 284703820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
uses terminal emulator to connect to remote host.

Options:
1 « Telnet

> % VPN
- % Terminal service

4 w Remote desktop

Question Number : 40 Question Id : 284703820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 284703821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which section of Windows will show all the printers connected to the System?

Options:
1 # Printer and fax control

~ % Faxes
z % Printer

4 « Printer and faxes

Question Number : 41 Question Id : 284703821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 42 Question Id : 284703822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
On-some kevboards, the command shares the same kev as used by the system request (SyvsReq) command,
Options:

Y, print screen



- % scroll lock
5 % insert

4 % pause

Question Number : 42 Question Id : 284703822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 43 Question Id : 284703823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following file extensions is used to save audio data in Audio Interchange File Format?
Options:

1 & aif

- % amr
5 % afi

4 % amrf

Question Number : 43 Question Id : 284703823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1_;,-:*aif

5 ® amr



= ® afi

4 % amrf

Question Number : 44 Question Id : 284703824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the shorteut key combination to move to the next print page of print preview option in an OpenCffice Cale?

Options:
; % Shift + Ctrl ~ Page Down

>  Ctil+Page Down

5 % Page Down

4 % Shift + Page Down

Question Number : 44 Question Id : 284703824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, = Shift + Ctrl + Page Down
-  Ctrl + Page Down

- » Page Down

4 = Shift + Page Down

Question Number : 45 Question Id : 284703825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A is a collection of logically related data.

Options:
1 « File
> % Line

%z % Point

4 % Marker



Question Number : 45 Question Id : 284703825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 46 Question Id : 284703826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In message integrity, message digest needs to be kept:
Options:

1 « secret

> » high
3z % low

4 % down

Question Number : 46 Question Id : 284703826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

v W
g_wﬁﬂé‘-

3_%-3?‘#

4 % SI3d

Question Number : 47 Question Id : 284703827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following Microsoft Excel charts represents only one value for each variable?

Options:
1 % Function

Line

ra
®

3 o Pie

4 % Bar

Question Number : 47 Question Id : 284703827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 48 Question Id : 284703828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
provides information about other data.

Options:
1 « Meta data

- % Micro data
- % Megadata

4 % Macro data

Question Number : 48 Question Id : 284703828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 49 Question Id : 284703829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Basic instructions needed to start a computer are stored in special ROM chips, and it is known as:

Options:
1 « BIOS

- % Flash

5 % Symbols

4 % Microcode

Question Number : 49 Question Id : 284703829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 50 Question Id : 284703830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The last part of the domain name following the dot (.) is called

Options:
1 « domain code

> % e-mail target



= % DNS

4 % IP address

Question Number : 50 Question Id : 284703830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 51 Question Id : 284703831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is known as the ‘Father of Email™?
Options:

,  Raymond Tomlinson

> # Bill Gates
3 # Steve Jobs

4 = Golitsberg

Question Number : 51 Question Id : 284703831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 52 Question Id : 284703832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Netscape Navigator is a type of

Options:
1 « Web browser
> % URL shortener

3 % E-mail server

4 % Antivirus software

Question Number : 52 Question Id : 284703832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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EEADING COMFPEEHERSION
Section Id : 28470372
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 28470372

Question Shuffling Allowed : Yes



Question Id : 284703833 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t0 57)
Cuesticon Label | Comprehension

Read the following passage and answer the questions
given below:

I once spent two months taming a small lizard rescued
from Bedouin Arabs of the South,. till he ate from my hand
and knew me. If he was frightened he would swell himself
out to the shape of a miniature balloon and shrink again at
the touch and the safety of my hand. He had small bright
triangular black eyes. and would hold his head on one side
and look out of them with a Pan-like wisdom. gay and remote
from ours. and. for me alone when I stroked him. these eyes
turned suddenly round in their sockets; this is a strange but.
according to books. natural way for lizards to express
affection. The small reptile body had to die unless the sun’s
rays warmed a blood that runs differently from ours: vet
human qualities of curiosity and courage were strangely
vivid within it. He crouched. as still and small and flat as he
could make himself. under the shadow of a bird overhead or
of an aeroplane which he obviously held to belong to the
same species; but he was ready to pick up his meal where he
left it as soon as the shadow had passed. and to go round the
garden nibbling at plants he had never known before. As I
watched him I found it pleasant to see these human things-
courage. fear, affection. anger: tracing back to a pedigree
immensely more ancient than ours.

Who can say in what remoteness of time. in what
difference of earthly shape. love first came to us as a stranger
in the jungle? We. in our human family, know him through
dependence in childhood. through possession in youth,
through sorrow and loss in their season. In childhood we are
happy to receive: it is the first opening of love. In youth. we
take and give, dedicate and possess, rapture and anguish and
mingled. until parenthood brings a dedication that, to be
happy. must ask for no return.

Sub questions

Question Number : 53 Question Id : 284703834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The writer says he ate from ‘my hand and he knew me’.
This means that:

Options:

1 % the lizard did eat from other’s hands.

- % the lizard ate food anywhere.

-  the lizard ate from the writer’s hand only.

4 % the lizard could eat from other places too.

Question Number : 54 Question Id : 284703835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

How did the lizard express his affection?
Options:

, w He turned his eyes and nodded his head.

> of His triangular eyes turned round in their sockets.

- » He turned his body and nodded his head.

, % His head turned round and his legs moved.

Question Number : 55 Question Id : 284703836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

About the qualities of courage. fear, affection and anger.
the writer thinks that

Options:

, « thelizards had these qualities much before humans had it.

the lizards acquired these qualities much later
5 % than humans ..

Both lizards and humans acquired these qualities at the
- % same time.

4 » Lizards are not able to show these qualities.

Question Number : 56 Question Id : 284703837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Love comes to humans through:
Options:
1 # interaction with human and animals.

-  interaction with other humans in the family.
- » relationship in the family and society.

4 % give and take in marriage.

Question Number : 57 Question Id : 284703838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What does the writer means when he says. “In yvouth. we
take and give, .....°

Options:
1 % Children receive love.

> % Youth only receive love.
- » Youths only give back love.

4  Youths receive and give back love.

Question Id : 284703833 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cesticn Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 284703834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 284703835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 284703836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 56 Question Id : 284703837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 57 Question Id : 284703838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Section Id : 28470373



Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 28470373
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 284703839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The sum of 3ix consecutive even numbers of set A iz 402, What will be the sum of four consecutive numbers from
another set B whose lowest number 15 15 less than double the lowest munber of set A7

Options:

1 ® 444

> o 442
5 % 440

4 % 446

Question Number : 58 Question Id : 284703839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 444

o o 442
5 % 440

.« 446

Question Number : 59 Question Id : 284703840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ravi scored 225 marks in a test and failed try 13 marks, If the passing percentage of the test is 25 percent, what is the
maximum mark of the test?



Options:
1 % 860

5 % 840
3 % 920

4« 960

Question Number : 59 Question Id : 284703840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % 860

. % 840
- % 920

4 v 960

Question Number : 60 Question Id : 284703841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the wrong number in the given series.

155 151 139 119 90 55
Options:
1 ® 35

5 % 119
3. v 90

4 % 139

Question Number : 60 Question Id : 284703841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

> % 119

L % 139

Question Number : 61 Question Id : 284703842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many pairs of number are there such that their HCF and LCM are 12 and 924, respectively?
Options:

1 ® 1

| ]

o of

Question Number : 61 Question Id : 284703842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1%-3-1

Question Number : 62 Question Id : 284703843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Aslam purchased & watch at 16% discount on its marked price but sold it at the marked price. His gain percentage is:

Options:

11
18 —
1 ® 21



1
8 —
o o 21

z ® 12

g4 16

Question Number : 62 Question Id : 284703843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

¥HAR F UF O IEF HheT ®EO 97 16% OF 99T TR dfee §Y IEE Mg 70 9T i R
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Options:
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Question Number : 63 Question Id : 284703844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

I the weight of 19 sheets of a paper is 30 grams. then how many sheets of the same paper will weight 1 5 kilograms?

Options:
1 % 570

5 o 760
2 % 800

4 % 950

Question Number : 63 Question Id : 284703844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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. = 800

. % 950

GEMERAL MENTAL ABILITY AND EEASONING

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section | d:
Question Shuffling Allowed :

28470374
4

Online
Mandatory
6

6

6

Yes

No

1
28470374
Yes

Question Number : 64 Question Id : 284703845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that is related to the third word on the same basis as the second word is related to the first word.

Dilatory : Expeditious :: Direct : ?
Options:
1 ® Tortuous

o  Circumlocutory

- u Straight

4 % Curved

Question Number : 64 Question Id : 284703845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 65 Question Id : 284703846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Water : Convection : : Space : ?
Options:
1 # Conduction

> #% Transference
= % Vvacuum

4 + Radiation

Question Number : 65 Question Id : 284703846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 66 Question Id : 284703847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Select the alternative with the most appropriate description about these three words.

Yenisei : Orinoco : Mackenzie
Options:
1 % These are small round hills.

> % Ihese are sea ports.

3 « These are names of rivers.

4 % These are rich agricultural lands.

Question Number : 66 Question Id : 284703847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 284703848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative with the most appropriate description about these three words.

Slumber : Drowse ; Snooze
Options:

, = They are medical terms.

>  Thewords are connected with sleep.

5 % [The terms are connected with peace.



4 # They are first symptoms of somnambulism.

Question Number : 67 Question Id : 284703848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g JEl @l & IR H I 3IGFT TUA A ATl [AweT HT TqF FHL

o g =adr o= FuE

Options:

.y T R @ gF e
, , T ¥ AT F W E
|, T U A F 5 g0 E

. » T8 THErsAnT & uRiEe FEor g

Question Number : 68 Question Id : 284703849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third number on the same basis as the second mumber is related o the first mumber.

42 30 11027
Options:
1 ® 18

5 152
s % 136

4 % 140
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Question Number : 69 Question Id : 284703850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the number which when added to itself 13 times, gives 112.

Options:
1 ® 7
2 o 8

3_-&39

4 B 11
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Question Number : 70 Question Id : 284703851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The term PC in the world of technology refers to a:

Options:
1 % pri&-‘ate computer.

-  Dersonal computer.
5 » professional computer.

4 % Ders onal calculator.
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Question Number : 71 Question Id : 284703852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
was awarded the Indira Gandhi Peace Prize in 2013.

Options:
1 % Ela Bhatt

> of Angela Merkel

5 » Lydia Davis

4 w Christine Lagarde
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Question Number : 72 Question Id : 284703853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who is known as the Grand Old Man of India?
Options:

, « Dadabhai Naoroji

- % Gopal Krishna Gokhale

- » Bal Gangadhar Tilak

, % Surendranath Banerjee
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Question Number : 73 Question Id : 284703854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where was the 2013 World Badminton Championship, in which PV Sindhu won a Bronze medal, held?

Options:
| % Jakarta. Indonesia

- % Singapore
=  Guangzhou. China

, » Bangkok, Thailand

Question Number : 73 Question Id : 284703854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 74 Question Id : 284703855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The highest mountain peak in peninsular India is:
Options:

1 « Anamudi

> % Doddabetta

- # Mahendragiri

4 % Nilgiris
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Question Number : 75 Question Id : 284703856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an extra-constitutional body?

Options:
1 % Union Public Service Commission

> % Finance Commission
% # Election Commission

4  Planning Commission
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Question Number : 76 Question Id : 284703857 Question Type: TYPING TEST Display Question Number : Yes
Wormens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the yvear. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 284703858 Question Type: TYPING TEST Display Question Number : Yes

The Gross domestic product is the best way to measure a countrys economy. GDP is the total value of
everything produced by all the people and cormpanies in the country. It does not matter if they are citizens or
foreign owned cormpanies. If they are located within the countrys boundaries, the government cournts their
production as GDP. There are many different ways to measure a countrys GDFP. Nominal GDP is the raw
measurament that includes price increases. The Bureau of Economic Analysis measures nominal GOP
quarterly. It revises the quarterly estimate each month as it receives updated data. Real GDP cormnpares
econormic output from one yvear to another, you must account for the effects of inflation. To do this, the BEA
calculates real GDP. It does this by using a price deflator. It tells you how much prices have changed since a
base year. The BEA multiplies the deflator by the nominal GDP. The BEA makes three important distinctions.
which involwes Income from U5, companies and people from outside the country are not included. That
rermoves the impact of exchange rates and trade policies. The effects of inflation are taken out. Cnly the final
product is counted. For example, a 11.5. footwear manufacturer uses laces and other materials made in the
United States. Only the value of the shoe gets counted. The shoelace does not. GDP growth rate is the percent
increase in GDP from quarter to quarter. It tells you exactly how fast a countrys economy is growing. Most
countries use real GDF to remove the effect of inflation. GDF per Capita is the best way to compare gross
domestic product between countries. Thats becausse 50rme Countries have enormous eCononic cutputs because
they have 50 many people. To get a more accurate picture, it is helpful 1o use GDP per capita. This divides
gross domestic product by the number of residents. It is a good measure of the countrys standard of living.
The best way to cornpare gross dormestic product by year and betweeer) courntries 1s with real GDF per capita.
This takes out the effects of inflation, exchange rates and differences in population. The different measures of
GDF are great tools for comparing the economies of other countries or how an econormy changes over time.
Wwhern economists talk about the size of an econormy, they are referring to GDF. The growth rate measures
whether the economy is growing more quickly or more slowly than the quarter before. If it produces less than
the quarter before, it contracts and the growth rate is negative. This signals a recession. 45 bad as a recession
is, vou also do not want the growth rate to be too high. Then you will get inflation.
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